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@ 23+x)-2x=0
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® 2(x-1)+1=3x-2
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D 4x-3=5=>4x=5+3
O x2=—x+4=>x+x=4+2
© 7+2x=6-8x=>2x—-8x=6+7

® -3x+5=2x-3=> -3x—-2x=-3-5
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SH A -T)+2 =3(x-8) + 1014 ¢ FS BT HHoR
ShAl 2= o] ax + b = 09 E= HERW 2127

® -3x-3=0 @ -3x4+3=0 ® -x-3=0
@ x-3=0 ® x-1=0
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0.2x4+04=-0.17x-0.34

D x=-3 @ x=-2
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DO b+-2 @ a=5,b# -2 ® a#b

@ a+b, b+ -2 ® a#b, b=-2
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@ 0.05x—0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
® 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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@ 6x+ 4x = 5x @ 6x+4x=5 ©) g+g:4
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@1+6—5 @5—1x
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D 128 @ 1uE B 168 @ 188 ® 208



@ 0.05 x 600 + x = 0.04(600 + x)
@ 0.05 x 600 = 0.04(600 + x)

® 0.05 x (600 + x) = 0.04(600 + x)
@ 0.04 x 600 = 0.05(600 + x)

® 600+ x =4



